
SAP ABAP table RFITEMAR_NO_ITEM {Item wise detail for the Customer Transactions}

RFITEMAR_NO_ITEM

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

KONTO [CHAR (10)]

GJAHR [NUMC (4)]

SEQNO [NUMC (10)]

ANLN1 [CHAR (12)]

AUFNR [CHAR (12)]

BLART [CHAR (2)]

BSCHL [CHAR (2)]

EBELN [CHAR (10)]

EBELP [NUMC (5)]

ETEN2 [NUMC (4)]

GSBER [CHAR (4)]

MABER [CHAR (2)]

MANSP [CHAR (1)]

MSCHL [CHAR (1)]

MWSKZ [CHAR (2)]

POSN2 [NUMC (6)]

UMSKZ [CHAR (1)]

UZAWE [CHAR (2)]

VBEL2 [CHAR (10)]

VBELN [CHAR (10)]

VBUND [CHAR (6)]

WERKS [CHAR (4)]

ZLSCH [CHAR (1)]

ZLSPR [CHAR (1)]

RSTGR [CHAR (3)]

PSWSL [CUKY (5)]

HKONT [CHAR (10)]

KKBER [CHAR (4)]

BUPLA [CHAR (4)]

PYCUR [CUKY (5)]

CESSION_KZ [CHAR (2)]

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 RFITEMAR_NO_ITEM-ANLN1 = ANLH-ANLN1 

0..N

0..N

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 RFITEMAR_NO_ITEM-AUFNR = AUFK-AUFNR 

0..N

0..N

EKKO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

 RFITEMAR_NO_ITEM-EBELN = EKKO-EBELN 

0..N

0..N

EKPO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

EBELP [NUMC (5)]

 RFITEMAR_NO_ITEM-EBELP = EKPO-EBELP 

0..N

0..N

J_1BBRANCH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BRANCH [CHAR (4)]

 RFITEMAR_NO_ITEM-BUPLA = J_1BBRANCH-BRANCH 

0..N

0..N

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 RFITEMAR_NO_ITEM-HKONT = SKA1-SAKNR 

0..N

0..N

T000

MANDT [CLNT (3)]

 RFITEMAR_NO_ITEM-MANDT = T000-MANDT 

0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 RFITEMAR_NO_ITEM-BUKRS = T001-BUKRS 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 RFITEMAR_NO_ITEM-WERKS = T001W-WERKS 

0..N

0..N

T003

MANDT [CLNT (3)]

BLART [CHAR (2)]

 RFITEMAR_NO_ITEM-BLART = T003-BLART 

0..N

0..N

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 RFITEMAR_NO_ITEM-MWSKZ = T007A-MWSKZ 

0..N

0..N

T008

MANDT [CLNT (3)]

ZAHLS [CHAR (1)]

 RFITEMAR_NO_ITEM-ZLSPR = T008-ZAHLS 

0..N

0..N

T014

MANDT [CLNT (3)]

KKBER [CHAR (4)]

 RFITEMAR_NO_ITEM-KKBER = T014-KKBER 
0..N

0..N

T040

MANDT [CLNT (3)]

MSCHL [CHAR (1)]

 RFITEMAR_NO_ITEM-MSCHL = T040-MSCHL 
0..N

0..N

T040S

MANDT [CLNT (3)]

MANSP [CHAR (1)]

 RFITEMAR_NO_ITEM-MANSP = T040S-MANSP 
0..N

0..N

T042F

MANDT [CLNT (3)]

UZAWE [CHAR (2)]

 RFITEMAR_NO_ITEM-UZAWE = T042F-UZAWE 

0..N

0..N

T042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

 RFITEMAR_NO_ITEM-ZLSCH = T042Z-ZLSCH 

0..N

0..N

T047M

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

MABER [CHAR (2)]

 RFITEMAR_NO_ITEM-MABER = T047M-MABER 

0..N

0..N

T053R

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RSTGR [CHAR (3)]

 RFITEMAR_NO_ITEM-RSTGR = T053R-RSTGR 

0..N

0..N

T074U

MANDT [CLNT (3)]

KOART [CHAR (1)]

UMSKZ [CHAR (1)]

 RFITEMAR_NO_ITEM-UMSKZ = T074U-UMSKZ 

0..N

0..N

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 RFITEMAR_NO_ITEM-VBUND = T880-RCOMP 

0..N

0..N

TBSL

MANDT [CLNT (3)]

BSCHL [CHAR (2)]

 RFITEMAR_NO_ITEM-BSCHL = TBSL-BSCHL 

0..N

0..N

TCESSION

CLIENT [CLNT (3)]

COMPANY [CHAR (4)]

CESSION_KZ [CHAR (2)]

 RFITEMAR_NO_ITEM-CESSION_KZ = TCESSION-CESSION_KZ 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RFITEMAR_NO_ITEM-PSWSL = TCURC-WAERS 

0..N

0..N

 RFITEMAR_NO_ITEM-PYCUR = TCURC-WAERS 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 RFITEMAR_NO_ITEM-GSBER = TGSB-GSBER 

0..N

0..N

VBEP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

ETENR [NUMC (4)]

 RFITEMAR_NO_ITEM-ETEN2 = VBEP-ETENR 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 RFITEMAR_NO_ITEM-VBEL2 = VBUK-VBELN 

0..N

0..N

 RFITEMAR_NO_ITEM-VBELN = VBUK-VBELN 

0..N

0..N

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 RFITEMAR_NO_ITEM-POSN2 = VBUP-POSNR 

0..N

0..N


